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Early Years

One-to-one correspondence:

Children first learn to
count using one to one '

correspondence.

Children will be encouraged |
to say a number each time
they touch an object.

Recognising numerals:

o~ gl ' Children learn to recognise
e I¢ =) ' numerals to 20.
: ' /(1-2-3-4-5) "%
10| Sy @
= They are beginning to match
~— Lt [ the numeral with the correct

corresponding quantity.

Children begin by practically taking away one or
adding one more. They will also be able to use
drawings to support them.

Numicon:

e
2 }_ B

Children will be able to use Numicon to count, as well
ordering them from smallest to biggest to create
their own number line. Children should be able to see
which Numicon shape is one more or one less.



Early Years

Number bonds using Tens frame: Number bonds using Numicon:

Tens frame: @ %
Children will be able to Children will be able to use

Numicon to find number

use a tens frame to find O O O . .‘ 0= 149 2+a 3+7 446
number bonds to 10. O O O . .‘ % Sfeo %
+4=10 @ : E

The tens frame shows v g

Number lines:

%lllﬁll

| L)
0 2345678990

Children will be able to use a number line to
count, as well as using it to take away or add one. This will be for numbers up to 20.

Part-part- whole model:
part part

5 2

whole
y Children will use the part-

part-whole diagram to add
and subtract numbers.

Alongside the part-part-
whole diagram, children will
use Numicon and practical
resources to add and
subtract numbers.

Children will be confident to
say and write calculations
using the + and - signs.

bonds to 10.



Year 1

Place Value- Counting

Counting to 10:

We can count on....

-
”~ 1,2,3,4,5 4
Counton from 1.
q I
Counting with objects:
0 .
AR
eoe el

Physical objects Tens squares

Counting with number lines:

‘ Three

3,210

"1‘

3,4,5,6,7,8,910
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e
—
e
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—
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-
T
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We can count back....

i a
-

L] )
'.' Count back fram 10. 10.9.8, 76,5, 4
£ “
Then we learn about 0.
1
2
3

Counting with objects:

BT 7777] IEEEEE ([
B 7777 s ||
- NN 10600000
Im- A 5 &' 7 B 9

Using multilink cubes



Year 1

Place Value

Dienes to represent numbers:

Tens |Ones

- The dienes show
" 6 tens and 4 ones.

EEEEEE |

Writing numbers to 10:
. . -

:: ll‘ 111 2

&8z

This shows the
number 64.

three

-

Number bond method:

Separating the numbers apart like this is called

partitioning.

Ordering numbers:

1N2ESHR4BER6RT7ESESNIO

|
|

————+ ——+—
012 3 45(@®7 8 910

’ \ »

1less 1more

Comparing humbers:

There are 3 cupcakes.

There are 5 cookies.

5

Ll We can find 1 more
and 1 less than.

c /se000

@ -

T ED A i @D

There are 7 doughnuts. b & €D € © ©

Which number is more than the others?
Which number is less than the others?

7 is more than 5.
7 is more than 3.
7 is the greatest.

e

3 is less than 7

10 3 is less than 5.

3 is the smallest.



Year 1
Addition

Tens frame: Tens strip:
0000 @ ododoveeee
O00e® i

Number bond method: Number bond method:
O ®-®
Picture method:
VOV _99_99999
"TIM IR AL2E.

Counters method: Base 10 method: Abstract calculations:
Unes Ones
8009 Commutative| Inverse
g E 2+5=7 7-5=2
o0 5 3
o0 B+2=7 7-2=5

Number line method:

& | 7 | 8 9
Sy L
6 7 9 10

Bar model:




Year 1

Subtraction

Tens frame:

OO0

OO

Number bond method:

Picture method:

VevY 9 _ vee
YoV 9T Ve

Number line method:

5 .e.-

S

¢

Tens strip:

COO0Oe®

Count back from the biggest number:

7-2=95

Number bond method:

Counters method: Base 10 method:
Unes Ones
T d
g3
% TH
& "




Year 1

Multiplication and Division

Making equal groups Adding equal groups
$ SCRNE EONEE XONNE XoNea

eyl ——— Y Y
& fives =20
These are not equal groups. I There are 20 . altogether.

Making equal rows Making doubles
e s e s e EREE o - ﬂ
TEERRRRELL O o 4 .. tEs
s s g RO EE e "
freeattttt 2 oo o
;htem or;olOtoysoldiersmone row ” %F %— Double 5 = 10 N S
There are 20 toy soldiers altogether. i; i: n

Grouping equally Sharing equally

There are 8 cans. There are 6 cookies and 3 children,

Each child takes ore cookie.

E"'Q@ ST Y AN

Each child takes one more cookie.

¢ @l )\

There are 4 boxes of 2 cans. Each child gets 2 cookies.



Year 2
Place Value

Counting in tens to 100:

‘We can count an....

_— .
- A = - == 1
T
-
S o v = o oy |
i CTp— b
oy poy pomy puk . ’

o oy ([
o o

o o
e

[
We can count back....

We can represent two-digit
numbers in these ways:

Comparing humbers:

A T
o

We can find the missing numbers
in patterns:

Counting in tens and ones:

y uikai 53 e o O
. 4
L L T
- W b 1 P e 02
- - r cal [Fry-twve
: N
. i '
"
a -
W e e - oma
ﬂ.. ....... -
J.- WO OET R R W W

We can make numbers using
different number bonds:

[ m ..... ' .
iy = —
| s
-2 e " F
L
E— 3 [ 1




Year 2
Addition

Counters method:

lens Unes

Number bond method:

Number line method:

fh/ﬂ +1
19 | 29 | 30 | 31

32

9 29 30 31

Column addition:

Withaut Penaming With refaming: Expanded method:

18 19 ;]
+ 11 +13 12

20

Base 10 method:

Tens Unes

A
-+

Number bond method:

9+3=12
10+ 10 = 20
20+ 12 = 32

(19) +
(10)(2

Bar model:

‘ 19 -

Abstract calculations:

Commutative| Inverse

19+13=32 |32-13=19

13«19=32 |32-19=13




Year 2

Subtraction

Counters method: Base 10 n;cgjhod: -
H E 00
®K 3 3 g0
o  {ui
®x
Bar model: Number line method:

H 25 | 26 | 27
25 K’\l! ;=Y ('"\l

w5 28

Number bond method: Number bond method:

Column subTmcfioni Abstract calculations:
Without renaming: With reraming: xponded method:
1 13 29 Commutative, Inverse
28 23 -14 25+ 3 =28 28 -3 =25
-3 -19 5
10 3+25=28 28-25=3
25 4 BTl




Year 2
Multiplication

Repeated addition: Number line method:

oo Inann

Groups of: Multiplication:

Abstract calculations:

Grouping Method:
I,-f""_“\., £X) Commutative
'x\____ , Oy Ix4=12
(1) D 4x3 =12
s 4 I'\H y




Year 2
Division

Make a family of
multiplication and division facts:

Lock ot the pichsre
Maoke o family of mubiplicotion cad diwidons focts

2 . 10 380 —¥ 20 .2 - 10
0. 2 = 20 20 - 10 - 2

Solving Problems:

Ruby has 15 marshmallows.

She packs 5 marshmallows into each bag.

How many boags does Ruby need?

Method 2 Draw a picture.

Solving Problems

Ruby has 15 marshmallows.
She packs 5 marshmallows into each bag.

How many bags does Ruby need?
Method 1l Use gg tostand for

-
Usa . for anch bog.

TED «=

Solving Problems:

Ruby has 15 marshmallows.
She packs 5 marshmallows into each bag
How many bags does Ruby need?

Method 3 Use a division eguation.
15 - 5 = 3
Ruby needs 3 bags.



Year 3
Place Value

Base ten or dienes blocks:
Hundred Tens |Ones

Value of digits:
“ 2 7
4°7 = 4 hundreds + + 7 ones

4:7=400+ "0 +7

The digit 4 stends for 4 hundreds or 400,
The digit = stends for or .

The digit 7 stends for 7 ones or 7,

We write 427 as four hundred end -geven.

Number lines:

211 212 213 214 ? 216
1 1 1 1 1 1
1 T T T T T
211 212 213 214 4 216

Finding 1 more or less than:

Number bond method:

253
200 50 3

Place value cards:

(400]
20) — [
@

Separating the numbers apart like this is called

partitioning.

Finding 10 more or less than:

O more

”~ Ml ewees
g e
7 5

Py {




Year 3
Addition

Counters method:

Hundreds Tens

Unes

o
X
.
Number line method:

ST 7 [ [l
213 | 214 | 215 | 216

213 214 215 216

Number bond method:

Abstract calculations:

Base 10 method:

Hundreds Tens Ones

90 a8
+

904

Bar model:

=

Hewe many poz Ls do they howe altogethar?
3

i}
ht . A4

15+ 23=348
Thew hoe 38 pancils alteaether:

Number bond method:
+ 4
7 210

210 3 7

Column addition:

Without renaming: With renaming:

Commutative| Inverse 11
213 + 4 = 217 | 217 - 4 = 213 213 213
44+213=217|217-213=4| X 4 +497
217 710




Year 3

Subtraction

Counters method:

Hundreds

Tens

®®
®®
(®

Number line method:

654

655

656

657

654 655 656 657

Number bond method:

(=

Abstract calculations:

Base 10 method:
Hundreds Tens Ones
g g
7 O
Bar models:

Bar medel: Comparative model:
There are 36 childran in the school boed A spider has 8 lags.
Boithemarbos ) An ant has & legs.

. z o

W apik b R G it

Number bond method:
- 4

Commutative

Inverse

658 - 654 = 4

658 - 4 = 654 654 + 4 = 658

4 + 654 = 658

650
+ 4

Column subtraction:
Without renaming: With renaming:
658 658
- 4 -349
65 4 309



Year 3

Multiplication

Arrays:
3 times tables | 4 times tables 8 times tables
(111 00999
=== L 111 LRI 1 1]
-4 TIT 0009999
299 [ T11 (T Il
L 11} LL L L 000D
>

3x5=15 | 4x5=20 8 x5=40

[daubing The  fimer fabies)

Number bond strategy:
Multiplication

- 12 x4 =48

BNOLO
‘! 10x4 2x4

Bridged column method:

With renaming

Mul!lph-' the ones b,- &, Misttiply the tens by &

t o t o h t L]
2 ]
2 5 2 3 , A

& : 4
2 a 2 o
2 (1] 8 Qa + L} 0
1 Q 0

5 anas 54 = 20 cras

Ianes 32 lens 2 tens 4 = § tens 20+ 80 =100

Short multiplication:
With renaming

Multiply the ones by &, Multiply the tens by 4.

2tens t o h t o

2 ]
& 7 & 7
[ 4
a i 8 &8

Banas
Tones ¥ & = 28 ones 4 tens = 4 = 16 tans
E 28 ones = 2 tens + 8 ones 16 tens + 2 tens = 18 tens

Add the products,

Make a family of
multiplication and division facts:

e W e W W W

¥ W W ¥ W ¥

e 2 5 3 5

e 2 5 5 3 5
6 -4 =24 —24 - & -4
4 -6 -24d—24 -a-&

Bridged column method:
Without renaming

[=]

13x3= | 39 ! g
9

SORNNTT

10 3 3 g9

Short multiplication:
Without renaming

Enenc
2x4=8 !n’iu}:ni

Solving word problems:
Bar model

Thare ore 18 boyz ina group

Thard are 3 Bred as Moy el as there are bogs

gl Hoaw many girls ore thara? hy Hew mony childran are there?
28 28
—— ——
<} K
55
I 26004 0 112

Thars e 88 pivds Thera are 113 children alogethar



Year 3
Division

Grouping: ‘groups of’

Put 8 @ into groups of 4.

'YY Y

4408 (23) <33)

8:4:=2 T
2 plates are needed. Papteepsivtoiprr dom s

Number bond strategy:
Division

6tens +2 68 = 2 34

=3 tens
Sones+2
A =4 ones
: |
’ 6tens=2 8ones=+2

Make a family of multiplication
and division facts:

e We e W We W

¥ ¥ W W W ¥

¥ e W W ¥ ¥

¥ ¥ W W ¥ ¥
6 -4 -24 24 6 -4
4 -6 -24 240 - 1% - 16

B

*—"—Jﬁif;?:e (

Grouping: ‘equal groups'’

Put 8 ® into 4 equal groups.

20 G004 GS
'YYY I

8 +2 = 4 “Thene are 4 aqual grovps,
There ore 2 in each group.

4 trays are needed. 4 epual groups of 2 oquats 8.*

Solvmg wor'd problems

How many beads do Sam - %6+:2=18
hildren b ? ]
the children have altogether Sam has 18 beods
?

She has twce as
marry beods a8

e 36
- [have. r - -
o o A I
- P?
8

San

1tave 36

) sam

§ = (

36+ 18+ 54
The children bt 54 beads altogether.

Number bond and long division:

o > Og 1=

6
[§
8C e
Firat, | take 80 from 06 - 4l -
Than, ] toks 18 from 7 . o
the remarvng 16 16 ones - 8= 2 ones
ftan 1 1ten * 2 ones = [12] 1. 2
8 ) @ 6 3 a 6
== -0 -8 0
96+ 8=12 1 6
{ g




Year 4

Place Value

Base ten or dienes blocks:

Thousands/Hundreds/ Tens/Ones

2 thousands + 3 hundreds + 4 tens + 5 ones

Value of digits:

2 thousands + 3 hundreds + 4 tens + 5 ones

thousonds
2 s s 5
2345 = 2 thousands + 3 hundreds + + 5 ones

24:7=2000+300¢ 105

The digit 2 stands for 2 thousand or 2000,
The digit 3 stands for 3 hundreds or 300.
The digit * stands for or <0,

The digit 5 stands for 5 ones or 5.

We write 235 as two thousand, three hundred and

Place value counters:

7 thousands + 0 hundreds + 2 tens + B ones =7028

<% o (00
et 0w (00
- 00
(1
(1)

€

00

Number patterns:

What sumber i 1 more thon 14887
i - odd o

Whot sumber s 10 more thon JMES7

vvvvv

-five.

1485 + 1 = 1486

A
\:‘, B v boososs 1485 + 10 = 1495
(1Bs[8
‘ we mbtroct @

Partitioning:

2345 =2000+300+40+5 2346 1s 0 4-chgit
2345 e

wis ] N

We write 2345 as two thousand, three hundred and forty-five.

Place value cards:

2 thousands «

Separating the numbers like this is called

3 hundreds + & tens . 5 ones

partitioning.

Comparing numbers:

38.

241

OO 10 Q0 OO ©v»
® 1w

10

10 10

352 is more than 241
352 is greater than 241

352 > 241

Comparing numbers:

!" o thousands

{'v [ 2 5 o|o
fioofiocfiscliockioc

iv‘vv S I - 5 '
L@@Q@ 2500 b loss than 5800

2500 < 5800

2500 is less than 5800

2500 < 5800

!



Year 4

Addition

Base 10 method:

e g 09
i = 90

EaiE m
e + +
g a0

Number line method:

‘/ﬂ /\

1403 I 1413

| 14

-

/""'_""‘.ﬁ/"‘\/"\

1403 1413

lnllﬂ

Number bond method:

Bar model:

‘ 1403 I *

Counters method:

Thounsands

Hundreds

Tens

=
=

+4

()

Abstract calculations:

Commutative

Inverse

12 + 1415 =

1415 + 12 = 1427

1427

1427 - 12 = 1415

1427 - 1415 = 12

Numbe-.r' bond method:

12
27 1415

Column addmnn

Without renaming: With r'ennmmg
1415 1 4 1 5
12 + Q96
1427 1511




Year 4

Subtraction

Counters method:

Thousam s Huandreds Tens s
{0 - - REORONL X

Number line method:

|_1£\1?25 1?%

S~

1724 1725 1726 1727

Number bond method:

Base 10 method:
1 1
150 i X X

Abstract calculations:

Commutative

Inverse

1728 - 4 = 1724

1728 - 1724 = 4

1724 + 4 = 1728

4 + 1724 = 1728

Number bond method:

*® o0

1724 I

Column subtraction:

Without renaming: With reraming:
1 18

1728 1 ,7 2B
- 4 - 349
1724 379




Year 4

Multiplication

Bar model:
6x9=54
‘9‘9‘9‘9‘9‘9\
Multiply 3 numbers:

2xb5x6=10x6=60

Multiplying by 10:

Mathod 1 the product of § ond 307
30 9=3D=
- Methed 2
- 9=3=27
- b Mathod 3
:3 . @=30=0=3u=10
5(- 9=3=10
« 30 27=10
27 s
= 270
Bridged and short
multiplication:
2 2
6 6
1 3
2 0
3 2 digit x 1 digit

Number line method:
.

N
[0 ] 91827

9x4=36

|
I
0 9 18 27

Array method:

6x3=18 OR 3x6=18

Multiplying by 100:

7x300=
Mathad 1 Mathod 2 Mathod 3
300 =3 =21 Fu=300=7 =
300 = 3 hundreds = 21 hundreds =7e3e}
Y00 7 = 300 = 200 = 00
300 = 1 hundr
:;E nm:mﬁ -
2100 o
Bridged and short
multiplication:
4 7 3 1
. 2 &
]
1 & 0
800 9
L] i

A 3 digit x 1 digit



Year 4
Division

Division by grouping: Grouping with remainders:

Placing infe 3 equal groups There were 11 balloons
Placing in groups of 9

E'.‘..'.... 11 + 2 = 5 remainder 1

SEeSuk 16 :0=4 The quotient (s S and the remainder is 1.
Each friend got 5 balloons.
There are 4 groups There was 1 balloon left over.

Divide using multiplication:  Dividing by 1, 10 and 100:

24T3=§ Hbﬂﬁmwmwgé@@

3x§:24 P A0 +4m 40 400 + 4 = 100

Drwde with remainders: Divide without remainders:

..... Mathod 1
;.-\ e ’}x \‘,, Part-part-whele ans Dhide 400, q 08 Part-port-whole
, . .f;\\. method /\ Divvicle & /\ methoed
."r \ :I' &S00 a 00 a Y
. i 5 100 ¢
Methad.
- Mathad 2 kel T Ty
’ r - 1 0 2
Lnng 4t 5 & s .- 5 & f H b 15 e i B ) TR . _,II .'. R ) ) —
] E] i 3 & Kl &
divisian (] I 2 1z Leng - = -
raracancar divigion 8 B a
. [+] [+] L]




Year b and 6
Addition

Add numbers with more than 4 digits

104,328 61,731

104328 ‘

61,731




Year b and 6
Addition

Add with up to 3 decimal places

?
@ @ ‘ 365

365 241 + 241
’ 365 | 6.06
241 i 1
 365+2.41=606
Ones Tenths Hondredths [ om § tom [ newwm |
Q00 "‘" ON(-- -1 i ::: ::'
00 ?5’1:::3;} @ |©® o0 | :oo" ®

[ o)
N/ 5. i
- 1~ |
O ' .



Year b and 6

Subtraction

Subtract numbers with more than 4 digits

294,382

294 382

182,501

294,382

182,501

| 294,382 —182,501=11,881 |

N

HTh

H

T

7] Th
-T-)
¢—¢ @@@QOU

RO OO

OO

OO0

-

| O,

e-] o ™




Year b and 6
Subtraction

Subtract with up to 3 decimal places

543 i
27 ?

-2.7

@ 543 2.73

2.7
?

(543-27=273 |

Hundredths

Ones @ Tenths Hundredths

Ones Tenths
0% 000 000
0000 »>»= 000

P o e U
(o1 ) e )/ er )/ a1 ..‘
S, o N o7
(o e e | @)
o Yoo Xl Ko
(o1 ) @)
o S




Year 5 and 6
Multiplication

Multiply 4-digit numbers by 1-digit numbers
I —

-I-T-I-Yele} Q0

B28% 00
VAl - , ¢ ; 00

ooed
1826 x 3=5478 |

: :
Th| H|T

0]
182.6
3

8

5|4 |7

2 1



Year 5 and 6
Multiplication

Multiply 2-digit numbers by 2-digit numbers

30

0000
C-X-BEEKE
000 00
000 00
Tultv]o]
x |20 | 2 2| 2
30 |600| 60 | | 5 |1
1120 2 212

22X 31=682

]




Year 5 and 6
Multiplication

Multiply 3-digit numbers by 2-digit numbers

© © (0000000 ..
0©® ©000/0000 | :|: -
00 ® 0000000 - s
0©©® 0000000 -
00 © 0000000 2 :°
00 0 000000

| 234 x 32=7,488

|

X

200

30

6,000

120

2

400




Year b and 6
Multiplication

Multiply 4-digit numbers by 2-digit numbers
TTh Th  H T O

2 / 3 9

X 2 8

2,739 % 28 = 76,692




Year b and 6
Division

Divide 3-digit numbers by 1-digit numbers (grouping)

Hundreds

QQQOIOOOO

2\

856+ 4=214 |




Year b and 6
Division

Divide 4-digit numbers by 1-digit numbers (grouping)

(E®

@00 0—00

©0 00000 ., ..

@@ ‘2|8 & |1z [is
C0@e®

8532+ 2= 4,266




Year b and 6
Division

Divide multi-digit numbers by 2-digit numbers (short
division)

0 3 6 - .
T 432 +12=136 |

§ . 0 4 8 9
7335+15=489 | [, 7. 5 6

15 30 45 60 75 90 105 | 120 | 135 | 150




Year b and 6
Division

Divide multi-digit numbers by 2-digit numbers (long
division)

R 12 X1=12
12x2=24
<|E|B[0] Coine 432 +12 =36
7 [ 2 12%6=72 i
(x6) -
- 212 12 %7 =84
12x8=96
0 12 x 7 =108
12 x 10 =120
0/4|81|9
1x15=15
B17]| 31315
’» \ Tz 13 15 el meicic 2x15=30
,, , 15 = 45
7335 =~ 15 = 489 1[s[a]s]  AXB=
L’ -|1[2|0|o]|xe) *XP=
) [ 5x15=75
= 113|5] (x9) 10 x15 =150
0



Year b and 6
Division

Divide multi-digit numbers by 2-digit numbers (long
division)

214 |r]|1]2

1%15=15
1 5]3 7|2 2x15=30
( - 3 O'QV | 3x15=45
372+15=241r12 T 4xis=60
: 5x15="75
- 60
10 x 15=150
1|2

242

A

1|85 |3|7]|2
- 3|00

372:15=242

7| g

1] e



